Ch. 7.1b Area between Curves

Area FRQ Graphing Calculator Practice Problems

1. Let R and S be the regions in the first quadrant shown in the figure above. The region R is bounded by the

v-axis and the graphsof v = 2 — +* and y = tan x. The region § is bounded by the y-axis and the graphs of

v=2-— x> and ¥ = tan x.
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(a) Find the area of S
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ii) (Right — Left Method)
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(b) Find the area of R
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2) Let R bethe region bounded by the graphof y = ¢>*™*" and the horizontal line y = 2, and let § be the region

bounded by the graph of y = ¢**™¥ and the horizontal lines y = 1 and y = 2, as shown above.

(a) Find the area of R.
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Let f be the function given by f(x) = dx> — x*, and let { be the line v = 18 — 3x, where ( is tangent to the

graph of f. Let R be the region bounded by the graph of f and the x-axis, and let § be the region bounded by
the graph of f, the line £, and the .v-axis, as shown above.
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(a) Show that ¢ is tangent to the graph of ¥ = f(x) at the point x = 3. ' ) - 4)( =X
(b) Find the area of S.
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Let f be the function given by f(x) = ‘T - %— — £ 4 3cosx. Let R be the shaded region in the second
quadrant bounded by the graph of f, and let S be the shaded region bounded by the umph of f and line £, the _{
)/,
line tangent to the graph of fat x =0, as shown above. 5‘ ( 0) 3 "( {o) a2
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Ch. 7.1b Area between Curves Area FRQ Graphing Calculator Practice Problems

1. Let R and S be theregions in the first quadrant shown in the figure above. The region R is bounded by the

x-axis and the graphsof y = 2 - x* and y = tan x. The region § is bounded by the y-axis and the graphs of

yom= 2 £ and ¥y = tan X, Xz Y2
Area = f (Top graph — Bottom graph)dx f (Right graph — Left graph)dy
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a) Find the area of §
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b) Find the area of R
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2) Let R be the te€gion bounded by the vrap 1of = &% and the hotizontal line ¥ 2, and let § bé the region

‘bouided by the gmph of y = e“x” -and thé horizontal lines 'y = L and y =2, #s-showit above,
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